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=] = P A - [ UE D\ | = = U2 A\ - = U D\ = =
1 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 452 56.35 | #hllst | 000 ~ 452 | 1.91 9.67 zh s 100 500 ~ 5.00 56.35 | #hLlst | 500 ~ 500 | 1.91 9.67
2 100kN/M##Z % 1.00| 000 ~ 0.85 112.70 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.86 ~ 13.35 112.70 |3mZE#BZ 5 -~ - - -
zh s 100 085 ~ 8.63 100.00 | 1L A%+ | 0.00 ~ 8.63 | 2.32 11.73 Zh Lt 1.00| 500 ~ 10.86 100.00 | ZHLA4+ | 500 ~ 1335 | 2.32 11.73
3 100kN/M##Z % 1.00| 000 ~ 150 122.79 |3mZE#BZ 5 — ~ — — — | 100kN/m%#%2%| 1.00 [10.53 ~ 15.52 122.79 |3mZE#BZ 5 -~ - - -
zh s 100 150 ~ 9.28 100.00 | ZHLA%+ | 0.00 ~ 9.28 | 2.38 12.02 Zh Lt 100 | 500 ~ 10.53 100.00 | ZHLLA4t | 500 ~ 1552 | 2.38 12.02
4 100kN/M##Z % 100 000 ~ 143 121.71 |3mZE#BZ 5 — ~ — — — | 100kN/m%# %% | 1.00 (1053 ~ 15.21 121.71 |3mZE#BZ 5 -~ - - -
Zh Lt 1.00| 143 ~ 9.21 100.00 | ZHLA%+ | 000 ~ 9.21 | 2.39 12.05 Zh Lt 100 | 500 ~ 10.53 100.00 | ZHLA% | 500 ~ 1521 | 2.39 12.05
5 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 6.06 76.02 | #nLUs | 000 ~ 6.06 | 2.12 10.70 zh s 100 | 500 ~ 9.00 76.02 | L4t | 500 ~ 9.00 | 2.12 10.70
6 100kN/ m##8 %% - -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 3.98 4989 | #h s | 000 ~ 398 | 2.08 10.52 zh s 100 500 ~ 5.00 4989 | #h s | 500 ~ 500 2.08 10.52
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
zh s ~ zh s ~ zh s ~ zh s ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 %5 ~ InEHBZS ~
zh st ~ zh s ~ zh st ~ zh st ~
100kN/ m##8 % % ~ InEHBZS ~ 100kN/ m##8 % 5 ~ InEHZS ~
zh s ~ zh st ~ zh st ~ zh st ~
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